Rl 2 8

VU Rl P AME A RE R

T2 89 H28HOK)-29HCK) 1 0HS5HOK
N2y hAR—L (JIZITEBERE)
(el b —F A > b
[57] = (7] JIZITE
40 | 67 56 | 87
11 - 25 19 - 14
11 - 16 11 - 26
40 1+ - 3 67 56 411 _ o5 (87
14 - 18 15 - 22
47 39 29 115 62 72 30 84
= = il + = + = ol
B B ‘ =B = 5 T
H [if] ] [if] H ]
(FiEE h—F A ] (FiEE h—F A ]
30 | 97 21 66
68 47 57 | 40 8|8_ 12 90 | 42
i = A + = = = _1 i +
; B : 5 = B : ;
s # ‘ ;It 2 | ] ®Om ‘ 7 > | 2
50 [ 57 9 [ 123
Yo h— (AHA 74—V KEHR) B ek (= EiEB R EK)
JIZ IR =BV -/
| 3 | 4
0 1 0 1
1 —
3 2 - 1 3 _ﬁ
2 1 6 1 ) J = -
P4 + P
; ‘ B
i = L = W = P e
ﬁ = RiL = )
i 7] * H F4 [ 1] 2 i]5]6]7
(P& h—F A }) T I1f1Jolol1To
ECTR ) 0 0 0 1 2 0
3 1
| 819 10| &aF
1‘ 2 ﬂ 3 0lolo] 3
olo[1 ][ 4
i = i = =
< B i B B
i i3] e i) H



NL—R—L (ZBEEEE)

[557] [%7] =T
wmixa Il 2 — 0 =3
mewa LE 1 — 2 JiFE - =5/
maze )b 2 — 0 +JE 21 25
wame = 2 — 0 JIFg- =74 20 25
meze )b 2 — 0 JIlFg-=m
wmews — 2 — 0 +E
FRa
Heuo
FoORE . .
N = JI = +
HIOHE I & i =
14652 JIlHE 30K
260 = 21K (FY —7)
3fiL - = 1052 B =0 — A
a6 0 P 3 B Jid 0 — 2 +JE
= 0 - 2 =
+E 2 — 0 JIFE
=R 2 — 1 =
Jide. -0 — 2 JIFE
(3 JIzitdk
UELE P ==Y
Y7 RT=X (NZLT =2k 4 —)
[%57] = [Z7] JIAE
0 | 0 2
2 0 2 0 2 1 2 1
+ )1 = )1 = + )1 =
& it [lf] E3) E3) & it [lf]
(FEY —7) (FEY —7)
JIFg 2 - 1 = g 1 — 2 =
=M\ 2z — 1 I = 0 — 3 ik
=M 2 - 1 E =1 - 2 =
JIAE 2 — 1 = Jde 2 — 1 +E
JIIFE 1 - 2 & g 1 — 2 =
=75 3 — 0 = =® 0 — 3 +t&=
(RPN (@ EPN |
17 W e Bl &iT = VA 3 e R =
201 ENEN B Pl = 260 M SERE 7 Hil —
RIa ‘BiE R = = VAN ECTEVE )11
RIa ®ik & BH K +JE VAN S A X JITdE




BER (T V—F1m)

[ 5 +[H114]) Y — 7 [ Zc+[H114]) ) — 7

I | =57 5 W 0 B I =5 5 P50 By

o6 | =B K 415188 26 Pilzirde [4 1 B

N |+ 2 5 3 e | HE 315 2 B

A PIZziede 2 5 3 apr IZiEE |2 11 3 Bk

567 | =& 2 W 3 Bk 507 | =57 1 % 4 Y

667 |JII.Z71Lr8 0 % 5 Bt 60 [Hre 0 %% 5 B4

[BrEA 7] [ZeraAN 7 R]

Ih ] B2l E2h [ =& e Il BIE =B

ofc | TR MR =B o] HE RS [ BE

RYA P — 5 | B HAT [ BH

Mr| BEE Bk [ =BA M| =R ET |

[BHEA FT71 2] [ZeFEAN ZT71R]

AR =T Al 7R [ CEE e o) B [ Al fmE [EEH

251 N sEr HESC + = ZF o MAE [ R HER | LR
3L
47

V7 hR— (ZEEESARZANT T R)

MR TERIF—LIF—LEG-=OH FTABIIRESNFEA,



Fal (NZIEEEE)

[ 5 +[H114]) [ Zc+[H114])
Ihr JITZitdE 21 e PIlzitdk 1P
ohr | = 5T B LK o |JIZiTrs 18k
3 [=BH 28k
A
5L
(EES PN (PN |
152 N FEE JIE 152 — BE |k
50k 251 +HE KA JIE 40kg | 2fr | sF BZE IR
IR TR R THE 36 | I edE | i
4 fir v |zl & [ JIM
152 [ EEE = 44ke | 2%
- 20ir LR = BRI
& 737 Iy | &RE W |
4 fr 48kg | 207
YN SRS JI1dE BRI
2L A ISA = 1L
60kg o i ! 52kg o
4 L 57k 6z | @i weh |
1z A Bk JITFd &
2f° 1L
66kg 3 63kg
A Toke |LBL | ST ¥ | JITAE
L % FFIR = & 1 |
73ke g@ B JIIdk okl N | g B5iE | =
fir
152 PRI PN =
8lke | 27 KiE == =
BRI
90kg [ Iff i ik =
90ke#A
fE (CZEEBEEY7T U —))
[ 5 7[H1A] [ Zc 7114
I, | =B 4 P50 B I5r [JIZ L 30 B
o6t | =B 3 W1 o | = B 2 W51 X
3t |z irdeH 215 2 M | =BT 15 28K
Apr 12T P 1 Vs 3 B AN | HJEH 0 W 3 Bt
50 | HEH 04/l
(EES PN (PN |
L& FK JITE IFC [Kp % [
VA EE-9N — VEERE S JI1FE
SO [ mUEER — N[BT R JI1F
AN EAREPN IS L 5Pl R =




NIV by (EREEEEY 7TV —F)

[ 5 7[H1A]

i +JE 1 P50 B

2ir e 0k 1B
[BHEAT > 7 R])

i = +JE

2ir FaEEEh e

RY0A 2L e

47

[BFEAL T A]

YN SR P EE + 5
207 N 5 ELRE e
3Nr FEAKHH — KZZF + I
47 T A [7) e 2R + I

[ Zc 1[4

6 | RFEh | B

201 [P R

[ EAN > 7 R])

1L PN e

pIia

3L

47

[N E 7 A]

| HREGFT EEIEES + I
20ir ITHEE S AR +J
Shr|  EREEVD IR HEEEL +JE
47




B Lt (ZREEhAR)

Wk 2 841 0H 6 A (K)

[5+]
! |mie —& JilE 1373 Ui By JIEE |11°0979
2 lumiE k| b 1374 2l ki | ik 122075
o i I T 3000m | 3
AlgEm e | JiEE 1374 4
blAm ¥l JIlEE [1375 5
6 s e JidE 1379 Ulgkilr a@sk | =8 2171
100m 2
110mH
Ul A | )ik 1273 3
2 lpswy gt | JIE 1274
ok S km fak =i 1276 U izires 48”7
4lmm =k JIEE 1278 2 Jizitde 50”5
S liEm A | = 137 4X100mR | 3 | = p g 51”8
6 |l = —a (1372 4
Ulam g | JilEd 2573 5
2\ K1E fwE =3 25”5 Ul wedy +J# |1imd0
Slmm =+ JIIE |2577 2 lpEm sk | = |im35
200m | 4 \perr maRE | i (2675 & w63 o it | JIE [imis
b lEA At | ik [2677 4
6 [uriE Mk | 2775 5
LR HZ2 | JIE [4m89
Ulskss s JIlEG |1 01”8 2 |EiE —/k JIE [4m87
2 i JIE |10 0971 £ g o BB R | BE |an57
joom | BB HF | bR (171070 4 PR sk | e 4ma8
4 5 |EfE kA =3 |4m26
5 6 |F)1 IR = [4m21
6 L|E% A | JIEE [10m34
VLA #meds | JIlEE [2° 2179 2 st gk | )i {9m39
2 gk Ktk | b (22279 = op o LSO | S [Sn63
soom Lo |EdE MEE | JIE [2'2377 4
=ar s | Jidb (23578 5
o = — (274377
6 |&m sk | Ik |20 4676 Ulggsy 4+ | JiiFd |8m62
Uz ik +J& |5 0273 o |@im Rt JilEE |7m10
2 Vnig B JIlig 5" 1374 Py [BBA Kk +J2 [7m00
3 |lEm JildE |5’ 36”3 4 | ¥8 — I |6m84
VA 4 i sk | = |574675 b |mitE kA | Ik |6ms0
5 |mwe =k | Jipg |5 5073 6 |50 2 |6ma2
. 6 — ; BHSRH | IR [3m30
Ul mweds | Jigg |45472
21=4 fE@ | e |45779 14 JI & 3T ® 104
o | O |EOE MR | JIIE |5 0072 2 )izt 58
4l sk =4 |5 1678 347 =B 18
S gl ki | e [57 4170 A +/E 40
6 e mh | = 54975 54
6




(%]

Ulmm 38 JIIEE (1379 Ul =7 |1676
ol o JIliEg 1470 2t 0so |+ 1776
SHF A | = 1471 S|=ar MR | ik 1875
VA 4 ks e | B (1471 100nl | 4 g sz |+ 1877
dlEsh Mg | HE |1476 ek Wi | Jidk [18”8
6 lgem #iE | Jude |1477 6 [t Bk = 1970
100m
Vgl Ex =7 13”0 =B =75 [5374
2lEsm wiw | bUm (1373 ol B e |5471
o P 1BE BF | SR (1470 AX100mR | 3 )11 2T I _|55”5
dlem Lvg | e l1un 4 Dizirde JidE 5771
P UIFE EkFI | bR [1476 b =R = (5977
6 e A W | Jidk 1571 Vst wikitE | +J& |1mdo
Lz 0 =7 2677 2 lhm %A JIIE |1m35
2lEsh wiy | bUm (2775 £ om o PAEE A% | IHE 120
S|am s | JipE [2877 gk A | Jidk [imis
gk kA | JidE [2974 | B | JUEE [1m05
200m 5 . W = 2974 6
6lam Lwg | 1 (2978 Ul sy =75 488
ol o JIEE [4m45
ST h#i =P [4mdl
B4 i 0s0 | HE 413
Ulgm =y =7 (236”8 b | LBy Bk =75 |3m83
2IWF mE | = 2417 6 lweT s | )ik |3ms2
soom | #EE JIlEd |2 4271
At e | Uide |2250% Uk sk +/& |57
A Eik | JIRE [25270 2R B | = |Tmi2
6 |5z kR =7 |2 5671 Woh S 143 ik JIEE [6m78
Ulgm sir =74 |5 2273 4lesh @Ay | Jidb [6m62
2 |5 e JIIE |5 2675 O | HkE | )ik |em30
L |2 B Tuie | IlE |5 5975 Ol g | = [em02
4
5 JEa = B W 66.5
1500m 6 o7 JIIl 2 T 54
LIWF m =16 53374 3z + & 52.5
2l mE = |5 3577 A7 JIl 2 3r dk 31
o S lam  E JIlFE |5 4776 5z = B K 19
g BA +E |5 4778 6fir
O | B =745 [6° 00”0
6l #km | )ik |60 1673




